C:h Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction.
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4 3
Which has more water? A swimming pool that is /5 full or onethat is /5 full?
4 1

Which is longer? /s of an millimeter or /g of ameter?

. . 7 - 6 .
Which has the greater capacity? /; of amilliliter or /7, of aliter?

2 3

Which has less people? A school busthat is 7 full or acar that is /7 full?

: 4 2
Which has the smaller capacity? /g of agallon or 7 of agallon?

2 1

In aneighborhood /3 of the residents voted. In the state /3 of the population voted. Which
ismore?

1 3
Which has less water? A swimming pool that is 7 full or onethat is 7, full?

3
Whichisthetaler? A glass of water that is /4 of afoot tall or aglass of lemonade that is

1
/, of afoot tall?

8 1
Which islighter? /}q of agram or 7/ of akilogram?
L . A3 2
Which is heavier? 7 of agram or 7/}, of agram?

5 1
A bag of lemons made /6 of agallon of lemon juice. A bag of oranges made /6 of a
gallon of orange juice. Which amount is more?

2
Which is the bigger amount? 7/, of ten dollars or l/4 of ahundred dollars?

Which islighter? A grocery bag of bowling ballsthat is 1/4 full or agrocery bag of

2
feathers that is 7/ full?

L 3 - 2
Which is shorter? 7 of an millimeter or /5 of a meter?

1 L . 3 o . .
Jogger A ran /6 of amilein 10 minutes. Jogger B ran /6 of amilein 10 minutes. Which

ictan~aD
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C:h Comparing Fraction Relative Size Name. Answer Key

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Solve each problem. Answer with the fraction. Answers
. L . 4 .3 4
Which has more water? A swimming pool that is /5 full or onethat is /5 full? 1 /5
1
4 1
Which is longer? /s of an millimeter or /g of ameter? 2 >
6
7 5 3. 10
Which has the greater capacity? /; of amilliliter or /7, of aliter? 3
4. 4
. .2 .3 2
Which has less people? A school busthat is 7 full or acar that is /7 full? c g
1
4 2
Which has the smaller capacity? /g of agallon or 7 of agallon? 6 3
1
7. 4
2 1
In aneighborhood /3 of the residents voted. In the state /3 of the population voted. Which 3
ismore? 8. 4
. N 1 3 8
Which has less water? A swimming pool that is 7 full or onethat is 7, full? 9 10
3
. . 3 . 10. 10
Whichisthetaler? A glass of water that is /4 of afoot tall or aglass of lemonade that is
5
1
/, of afoot tall? 11 6
L 8 1 .
Which islighter? /}q of agram or 7/ of akilogram? » L 4
2
L . -3 2
Which is heavier? 7 of agram or 7/}, of agram? 13. 4
3
5 L 14. 5
A bag of lemons made /6 of agallon of lemon juice. A bag of oranges made /6 of a 1
gallon of orange juice. Which amount is more? 15, / 6
L . 2 1
Which is the bigger amount? 7/, of ten dollars or /,; of a hundred dollars?
T . .1
Which islighter? A grocery bag of bowling ballsthat is /4 full or agrocery bag of
2
feathers that is 7/ full?
. 3 - 2
Which is shorter? 7 of an millimeter or /5 of a meter?
1 L . 3 o . .
Jogger A ran /6 of amilein 10 minutes. Jogger B ran /6 of amilein 10 minutes. Which
1 ictan~aD
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